PGC NEeT — FrAME, LiD AND NET

Model E36

BOM ID | Number Qty | Description

1 321228400 | 1 ASM, NET FLOOR FRAME (255 LTR) WELDED
2 327812602 | 1 RH, C Series Net Side Frame Assembly

3 327812702 | 1 LH, C Series Net Side Frame Assembly

4 018003700 | 2 BOLT, FLANGED M5 X 25 BUTTON HEAD
5 019479500 | 4 M5 X 16 SOCKET BUTTON HEAD SCREW
6 028004000 | 1 M5 X 30MM CSK SOCKET HEAD SCREW
7 04885900 | 1 M5 Nylon Insert Nut Din 985 Zinc & Clear
8 049382600 | 4 M5 CAGE NUT 3MM MATERIAL

9 088002800 | 1 WSHR, M5 FORM C

10 108000500 | 2 PIN, SPRG 10mm

11 119071600 | 1 MAG, BONNET CATCH

12 128000700 | 2 4.8 x 20mm POP RIVET

13 12824400 |8 RVT, POP 4.8X10mm

14 12860100 | 3 RIVET 4.8 X 16MM ALLOY POP

15 148987300 | 1 PLASTIC, LID C SERIES MINI NET

16 148987400 | 1 STRIP, PGC (255 LTR) RUBBER

17 178975000 | 1 TUBE, NET FRAME (255 LTR) BACK

18 259406000 | 1 Wave spring, C-series Net magnet catch
19 301201201 | 1 STIFFENER, TOP LID FRONT C330

20 301201600 | 1 STRIP, PGC (255 LTR) RUBBER FIXING
21 408800300 | 1 ASM, NET (255 LT R) FLOOR

22 542003100 | 1 BRKT, PGC NET CONTACT BRACKET

23 549123000 | 1 BRKT, C-CERIES NET MAGNET MOUNT
24 04885900 | 2 M5 Nylon Insert Nut Din 985 Zinc & Clear
25 088002800 | 2 M5 Washer Form C BS4320 Zinc & Clear

31



PGC Net — PGC ADJUSTERS

Model E36

16 1° /ﬁﬁ%\\

13
N o —F
6
7
5
BOM ID | Number Qty | Description
1 327814700 | 1 ASM, PGC (255 LTR) TIPPING HANDLE BRACKET
2 108000500 | 2 PIN, SPRG 10mm
3 108000600 | 2 CLEVIS, BRAKE ROD
4 118161800 | 2 BUTTON, CLIP 6mm
5 12860100 | 1 RIVET 4.8 X 16MM ALLOY POP
6 144000100 | 1 PGC HANDLE PLASTIC SLEEVE
7 148987000 | 1 PGC, TIPPING HANDLE BUNG
8 148987100 | 1 Rubber Handle Grip
9 179548200 | 1 PGC, TIPPING HANDLE
10 183010300 | 2 SHAFT, QUICK RELEASE BALL END
11 183010402 | 2 PGC ADJUSTER LINK ROD
12 183024900 | 2 QUICK RELEASE BALL JOINT BODY
13 183536701 | 2 PIVOT, SWEEPER
14 04872100 | 4 M10 Hex Lock Nut Steel Zinc Clear Pass Din936
15 04920100 |4 M8 Ni-Lock Nut DIN 985
16 08819501 |4 M8 Washer Form B Steel

32




Il COLUNTCAX B

Ariens Company Limited

Countax House, Great Haseley,
Oxford, OX44 7PF

Telephone: +44 (0)1844 278 800

www.countax.co.uk

W An Oﬁm Company Brand


http://www.countax.co.uk/

	PGC Net – Frame, Lid and Net
	PGC Net – PGC Adjusters

